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PART -1 /9 - I

Directions 1-3:

Each of the following sentences has been divided
into four parts viz (1), (2), (3), (4). There is an

error in one of these parts. Identify the part which
has the error.

v’
y 8 Please put away / the candle /
M (6]
before you / leave the room.

®) )

2, The aim of this unit /
M
is to first read through /
2

the story in oo go/
G

not worrying about difficult words.
4

3. The audience / are requested / 7.
1 @
to be initS eats / by 630 pm.
®) ()
Q/Page 2

Directions 4 -5:

Complete each sentence with the appropriate
word chosen from the given alternatives.

4. Youmustsecure at least marks.
M passing

@ pass

(3) full

(4) passable

5. carefulness could have saved
the situation.

(1) Little

(2) The little
(3) Less
(&) Alitle

Directions 6 -7 :

From each group of words choose the one which

can be substituted for the given definition.

A small shop that sells fashionable clothes,
cosmetics etc.

(1) Stall

£2) Boutique
(3) Store

(4) Booth

Yearly celebration of a date or an event.
(1)  Jubilee

(2 Anniversary

(3)  Birthday

(4)  Centenary
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% . tions 12 - 13:

irections 8 - 9: Direc . )
D * the word which is closest to the opposite | cpoose the word wl?l(‘hd bcstde.xpres:‘es‘ tll;‘g
Choo-? of the underlined word in each sentence, meaning of the underlined word in each of the

meaning following sentences.
ibited a comprehensive approach
& Heenits i tures in man ts

ds the matter in hand. 12. The ascending tempera in y par

towar of the world have become a cause of

(1) vague = concern for the environmentalists.
(2) exhausting ) falling
superﬁ(’ial Hny
o lipshod @ shoo g
(4) sbp (3) expanding
isin,
9.  Thisoffer will prove a great boon to me. Sy mising

(1) blemish 13. Many species of animals have become
(2) curse extinct during the last hundred years.

(3) trouble

(1) aggressive

(4)  misfortune (2) scattered

Directions 10-11: _(;,y non-existent
Choose the option which best expresses the (4) feeble
meaning of each underlined idiom/phrase.
Directions 14 -15:
10. When he was interrogated by the police | In each of the following groups of words only
officer, he looked blank. one word is correctly spelt. Identify the correct
(1) was furious one.

(2Y" showed no feeling or understanding 14 (1) Mathamatics
(2) Mathametics

A3) Mathematics

(4) Mathemetics

(3) had no energy
(4) grew pale

11. Ican’t make head or tail of your story.

(Y~ see the beginning or end of 15. (1) Lieutenant
(2) appreciate (2) Leutenant
(3) agreeto (3) Liutenant
(4) make out anything V(ﬂ) Lieutinant
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16. o w vga g & “‘a:;q:
faform foraredl & & Wt foed

(" o e
(2) Hfe™ FdAA
@) =

(@ 3l e

1. ‘v A e T S
T faweq T §1 39 A 3
Hiferg

@

(2 Fm
(3) W=
@ wEgm

18. ﬁqwamﬁﬁ'ﬁwwggh I T
aﬂwsaﬁaﬂﬁq:

M) F<T g emi
@ v F A fafom )
@) faw TR R w3
(@) TF T T #

19. ﬁmwﬁﬂiﬂﬁﬂﬁmﬁmﬁ'm'
WA TE S 2 T T i -

oy =
(2 feam
(3) =eE
@) Yo

Q/Paged mmmre—o |

20. 37 SO g w1 3 Fretfeifad fased
¥ g
A FEEHEH A e
(2  9fg =1 W@ T w5
(@) Ay gigam 2
(4) wa g H s

21. ﬁﬂﬁﬁ@aﬁmﬁﬁﬁaﬁ?—ﬂmﬁaﬁ

us ¥?

by sfa
@) affa
) sEyf
@ sy

22. "SI O T A G R o a5

T % fore U g A g T feredi F @
e :

(1) w=rE
(2) fertg
@ ==
@y wR

‘e’ w1 -y freftea fawed 4
A gfm
(1) cF+F=a
2 4w
3) THA+T
@) fe=m+z=n

T F
fere & / SPACE FOR ROUGH WORK
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frefataa 3 @ ‘A ¥ FgIH T H Ve
24. : wﬂm'
@ @
@ W -
@ T (@) MR
25, W T O T v Pt | @)
forepedi §f 9 HIfT -
g
- 29, nW'ﬁmmmmﬂ
® ATH ¥ TR e
@) TR
@ 1 &A
@ =
26, ‘9ol Al 5 wAm A a2 Pt
fasredl § | W fowed F1 vE=m Fifow (3),%
S A+
(2 F+3 o -
3) w+=
@ =+ 30. ‘e’ vz ¥ faudaredE v A= faw mu fawe
¥ P :
27, frefafaa § @ 'or' & FERs A §9 &
I YE9H FiTo W
W s 2 =g
@ W
@) T -
@) = @ zm
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T - 11 PART - 11 -
31 v s Rww 1T W €O el B The capital of which state is the venue for ‘
3 ¥ fog e oo # gard § T " I}_‘]“[‘““a! vonvention on Pravasi Bharatiyy
> iwas 2017 > ’
(N IWET (' Uttarakhang
) wERwE () Kamataka
3 UIRH ¥ Rajasthan
@ SwwW ) Uttar Pradesh
32 "Hﬁ?‘a‘ﬁ':ﬁiﬂ a1 T A‘]Si-:-—-?aa'.-, SIH 132 wWho among the following got Rank - | in
& e veen v o e L Indian Civi] Services F\Jl‘l\l'.‘l'l.dt‘iomq 2015
(1 IR AfR-39-87 (I Athar Aamir-ul-Khan
(2 TeEt W2 Tina Dabi
@) R ) Jatin Lal
() eEE wy () Jasmit Sandhy

33, ﬁ-—r%imwéﬁﬁarewgc‘:fé&m

' 33. Cauvery water dispute was adjudicated by
g’m:r“ : . the Supreme Court between : -
( Gl o Y = (1) Tamil Nadu and Kerala
(2) FEF G T .
: #; g | 42 Karnataka and Tamil Nadu
(3 FHzF i T 3 :
‘ T 'c' = I (3) Kamataka and Maharashtra
3 T 5 s | ¢ C
f (#) Kerala and Kamataka
|
M TR F T 2016 T e v & |
Sz s TSR T s ’ 34.  The 2016 Nobel Prize for Literature was
1 = N [ conferred on
o e (])ﬂ Wallace Stevens
(74 ] m:q:q
; i (2} EE Cummings
() ===
B e (3)  Maya Angelou
Rt
'r:l;/ Bob Dylan
TEFE %
fore e / SPACE FOR ROUGH WORK PKJ 17-11

Prefefan A 58 TR R B R

3. 35, Which of the following cities has not been
‘ il Tl 0 R <o far included in the smart ety list 2
(1) wfemen 44 Pativala
() WEW (2 Jalandhar
&) A ( 3) Namcht
@ I @) Thane
1. T-3ETF T (2016) § WRA F U wm 36, \Who ot the followmng atheletes w on the first
T avives A e faerd = a0 gold medal for India at the Paraolymps
games Nlo ?
(1) I dEg ¢ Marivapan Tangavelu
@@ W Efaw (2)  Devpa Malk
(@) T FEE (3) Deepa Karmakar
) T’ fag w&t 4) Varun Singh Bhat
37. Frafafen 99r F9fd 8§ F 96 F | | 37, Which of the following Telacommunication
fremaa ¥ foer gon et s W A Su g companies mergad with Reliance to make
HER HEES o9 T2 it the fourth largest telacom operator in the
country 7
(1) TFEd (1) Aircel
(2 arEEE (2)  Vodatone
@) e & Samsung
@) TR @) Airtel
38. fe S F o0 fAUE T TF WA | 38, The West Bengal State Assembly has
I X feey Sme 1 A ateE T @ passed a resolution to change the name of
82 the state from West Bengal to:
(n == &.) Bengal
) afen @&r Bangla
@) "mm (3)  Bangadesh
(4) dfr=mam (4)  Pashchim Banga
Q/Page 7 % &4 & fAC & / SPACE FOR ROUGH WORK PKJ 17-11



first Indian to be crowned

: fgerd # | 39
39. e @ # wE feg R e O - A star sportswoman of India has recently Lisil ; is the
. N AT 3 fq-g(zré' 2016 T AH AT T Witdy 3 who
ST ETS Eci 5"3::[5‘1::% : been appointed a member of the - FAE ?c s Mr. World - 20167
w1 e fagaa fean T ’ International Olympic Committee’s i Rajagopal
Athletes Commission. Her name is : m " o N a‘a-gC:
(1) N e (1)  Saina Nehwal @ @ Neer TP
2) e fay 2y~ PV Sindhu @ e FreaE (3 Rohit Khandelwal
(3) sl Afew (3) Sakshi Malik @ TRRTE @y @ HPS Sandhu
(@) @ s (4) Sania Mirza
gt 2016 At S A 2 | aa. WO won Euro Cup 2016 football
0. 2016 Tts FU peare frrre 315 | 0. wh , “ championshiP
edicl o among the following won the 2016
it ? Durand Cup Football ? ) e ) Germany
(1) TS e FE (1)  Aizawal FC @ W @ portugal
(2) DSK frarfsda () DSK Shivajians @ W @a
3) A T 3 J
(3) Feard (3) NerocaFC | @ @ @) Spain
@) 3 @ (49 Army Green
-2 . 43 e i 1 e AN, | 45. ndia’s first bio - CNG plant inaugurated
41, o W A R 41.  Avian flue is concerned with the : = i{lal fem ¥ recently, is located at:
1 A 1 i i
(1) (1) animals M e (1) Mumbai
(2 fwdi @ 2y birds
@ @ Pune
(3) wgdAd (3) reptiles
. @ @) Goa
(4) et T (4) humans
@) PEL (4) Badodara
42. = acd deu R (2016) F SR favd % | 42. Indiaranks among the world's Bank
gad yet A9 W o wealthiest countries according to New 46, FEIER LG CIRL e 3 AR AU | 46. According to a latest World l‘e?l')ﬂ'
World Wealth Report (2016). , T @A € maximum number of poor people live in:
& J (1) twentieth ' () e (1) Pakistan
= (2) fifteenth - (@ e (2f Bangladesh
@ = (@) tenth @ Wi @) India
4 k3
) i (4) seventh @) oL (4) China
e
- ———
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7. frefefa 3§ @ w-a 0 3
Tt &?
(1) w8 a aEH
() wdEe ww faerd
(3) w7 ) peate 2w @ 9 O

(4) fava = wad a9 feas

48, ifeea ¥ Ferg 2016 1 AT Q@R AT ST
R A A -

(1) TiRR
(2) wfegsR
(3) gmsiat
(4) wmaifag

49, . 7o 37w & A e F g SAEE T | 49,

=1 Fraffaa =ifva o = :
(1) #Eat7,2016
(2) FFax10,2016

a’ﬁ?a‘ﬂ’( 47,

Which of the following statements correctly
describes Usain Bolt ?

(1)
@

S
s(?

the fastest sprinter

the best hockey player

the crown jewel of Spainish football
team

the fastest bowler of the world

The Nobel Prize for Literature for 2016 has
been announced to be awarded to Bob
Dylon who is a famous :

(1)  Lyricist

(2) Litterateur
(3) Proletariat
{8}~ Linguist

Donald Trump was declared elected to the
post of President of the USon :

1)
()
?)

Nov. 7, 2016
Nov. 10, 2016
Nov. 9, 2016

@)
)

TGt 9, 2016
Fa4 6, 2016

50. 2015 ¥ fagw & fwm y= o F6 F 7a8 72 | 50.

(4) Nov.s, 2016

In 2015 which country was the largest
recipient of overseas remittances ?

I HH 91?7
(1) IR (1) Poland
(2 2 China
@ sra .(3) India
(4) AfwE @) Mexico
Q/Page 10 T %l & forg wmg / sm[cs FOR ROUGH WORK PK] 17-11

51.

5

Rio de Janeiro is the South

f 30 reTarrel ST W sy | 51 Americancity to host the Summer Olympic

53.

fa
<o s
IS b Games-
U‘) seCDl'Id
1) ™ )
({;) e @ id
@ @ g B
(4) N @) first
mﬁ%aﬁﬁmmqﬁt; 52. whatisnoltmeaboutKiranBedj?
2. meﬁwm ) Was an IPS officer
e AR Awarded Ramon Megasaysay
@ *= o S - Award for Public Services
& st Unsuccessfully contested Delhi
©) 1::[@ o T A T AR IFEEA 1y electi
i f
4) Was appointed Governor o©
@ Tl i v i (¢ ekl

{n 2016 Summer Olympics the host country

e St 2016 ¥ = W Wew A | 53 gold medals.

- Wﬁﬁl Brazilwon
W 8 oy
@ 5 2 5
@ 6 @ 6
@ 7 i &

Which of the following, states was the first

54. et T R TE P e o4 ¥ | 54

one to declare that 100% of its villages are

?
mlm%ﬂa@ﬁmﬁw‘ open—delecnﬁonfree?
(1) Haryana
(1) eRamm .
(2 femaa v (2) Himachal Pradesh
Sikkim
@) fefewm N _
(4) T (4) Guijarat
BK B\
mmrdtﬁtqm;smcsri—avc"wcm PK] 17
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55, -‘:ﬁvw#wwﬁﬂﬂi

Indian Army carried out surgical strikes
across LOC on the intervening night of

(1) 26 and 27 September
(2) 27 and 28 September
(3) 28 and 29 September
(4) 25 and 26 September

(1) 2s 27 fEFT
(2) 27 307 28 At
(3) 28 3% 29 faaE
4) 25 3 26 fEEaET

56. Elections to the state assembly of

56. 2015 F fsA Ew F gAY
were held in 2015.

(1) Telengana

(1) d=mE

(2) (faoeit (2}~ Delhi

(3) STEUTEE 939 (3)  Arunachal Pradesh
(4) fafesa (4) Sikkim

57.  Which of the following countries issued a
commemorative postal stamp on the

57, Freiferfaa & @ fg 2w 3 st e

e fedhe S foran ?
occasion of Indian festival, Diwali ?
(1) fa== (1)  Britain
(2 =l (2) Canada
@ w8 (3) Russia
@) §. g M) UsA
58. fawra wuA #) e % gerEt & €9 4 [ 58, Vijay Rupani was swomn in as the Chief
2016 =1 Y99 faem 71 Minister of Gujarat in 2016.
(1) s A1) August
(2 faaR (2) September
(3) T (3) October
4 o @) July
Q/Page 12 7% %14 % 1Y 9% / SPACE FOR ROUGH WORK PK] 17-11

e —

Who was captain of Indian Hockey team

Sireifaas 2016 T WIS AT Wi
e | 59 L ich took part in Rio Olympics 2016 2

59.
i Frq w1 FEE T A2 ‘
', @ e () PRSwesjesh
@ e T @ VRRaghunath
@ T I @ Sk
o 2016 # BCCI 1 mﬂqa—ﬂw? 60. whowaSelectedPIESidenloi‘BCClinMay
% 20167
I HyiE T 1 Shas 2
Thakur
@ I I iy,
@) T D B S
@ I Eich @ ARy itk
1 e WA ¥ R T A A2 | 61 To which state of India does Sakshi Malik
61 belong ?
1) e (1) Haryana
@ for 2 Himachal
) s (3) Maharashtra
@ M (4) Punjab

Ramon Magsaysay Award, 2016 has been

won, among seven others, by :

(1) Kailash Satyarthi

62. o AR W, 2016 WA 4 Sl % | 62.
m_m____iahm

Q/Page 13 < @ % A 0 / SPACE FOR ROUGH WORK

(1) e e

@ A Fm @) TM. Krishna
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) o | %% Whichathele " :
ey & wE w5 ST & guE o J of C“\‘:\piq: I':i\";‘:‘ on t‘i\t“hl.ghhesl number 6. T8 A= 1w afers A @ IS Ao {n which event did Sakshi Malik win the
s v mmg e | h S s Mokt T gilver Medal?
- ; (1) Michael Phelps ) e Goienl m feather weight swimming,
e .' (2)  Justin Gatlin ] fewwm W (HiEEN) @, discuss throw (women)
| @) Irabaruia &) Fafiiea 9 @ badminton junior
. ) 58 farell el (afeem) @ 58 kg wrestling, (women)
) == i Usain Bolt
67. -gm'&!g‘!ﬁ FUE- & - =i H fem | 67. Donah‘lTNmP wonin outala
- ﬂ .
o SETTE Wi § e X o Who were the winners and runners up e ol cf £
i respectively in [PL 2016 ? n 27 T4 ) 27 states
1 . 2) 28 =4 2 28 states
(1) ge§ FewT - —i @) Muzibai - Royal Challengers g 3
REAEEY Bangalore @ 29T ®» 2 states
Q) =T _ & WW 2) Kol‘luata - Kings XI Punjab 4) 26 T4 () 26 states
. Knight Riders :
152 T3EH €
3 FwEsE - W& ek ()  Sunrisers - Royal Challengers 8. Freratgadd 3 Tela T A wEE | 68, Who amens the following did not get
Hyderabad Bangalore 2016 TE WA € 7 Rajiv Gandhi Khel Ratna 2016 award ?
4) I - Tm‘i;-rg (4) Rajasthan - Chennai (§0) el wferh (%)) Sakshi Malik
o Royals Superkings : y
T @ T faE @@y Gurpreet Singh
@) ™ () JituRai
s g WA Ty 4) PV Sindhu
65. WHO ¥ g1 2016 § HIeiara & 1% ofy #1 | 65. After Maldives another Asian country, ! &
quﬂﬁﬁmgﬁ'&wﬁwﬁaﬁﬁmw,%: ! has been declared malaria o
nation by WHO in 2016. 9. WA ¥ UL G fem F9 7 Sl %. | 69. National Sports Day of India is celebrated
P b
(1) e (1) Cambodia o
i 1) fadst29 1) September 29
@ e @ sd (M m ep
- \ @ w27 @ May27
(3) faaam :
(3) North Vietnam @ w29 3y August 2
4) RIE ’. "
@ (4) Laos i (4 fega27 (4) December 27
Q/Page 14 |
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Wsﬁ‘“"
0. an?.sim#mﬁﬂﬂﬂ‘”aﬂ
fafer wa T AT 7

e 31, 2016
faaa 30, 2010

(1
(2)

(3) fewa 3o, 2010

(4) = 31,2016

3,‘3’4?’
=1 siram M i ol

71. HIgd, wOW qur e
2:3f4§|

T Al ®1 g F AT
g #1 3g F FWE:

(1 1294

(2 sad
10 9

9 g4

)
#)

maﬁfmﬂw‘;fmﬁmﬁmw

72,

70.  The last date to declare black money ung
e

71,

the IDS e).pi_rl.’d on:

(1) July 31,2016

September 30, 2016
December 30, 2016

March 31, 2016

The average age of Mohan, Karim apq

George is 27 years and ratio of their age g
2:3:4. The difference between the age of

George and Karim is :
(1) 12years
()]

8 years

10 years

©)]

‘(-/1} 9 years

A cyclist moves 4 kms towards North and

72.
maﬂﬁm%mmémm%| turns to his right. After moving 6 kms,
3IG%F e 9€ W (45°) T qIH 5 feprit turns half-right and then moves 5 kms.
werdal &1 o9 3HH! gl mﬁ-‘gﬁﬁﬂ How far is he now from his starting
22 point ?
(1) 11 fEA (1) 11km
(2 9fe 1" 9km
3) 8 famt (3) 8km
(4) 15 et 4) 15km
Q/Page 16 & &1d & fag wg
/.SPACE FOR ROUGH WORK -
MG = A " e
23 Y (1) hL- St
5 - @ a Y 5
q

73.

74.

g5, e @ E ST T, Tow, == % e | 75.

o cubes have volumes in the ratio of

2 vl 3 S FITWAL:125 ¥ Ty Tw

35 e TS AR 1 R S 3 T g 1:125. The ratio of total surface area of the
1 31T ® : faces of one cube to that of other is :
) 1:20 @ 1 120
@@ 1:10 @ v 10
@ 1:25 J}) 1:25
1:5 @ 1 5

@
A metal sheet 27 cm long, 8 cm broad and

o7 &5, et 8 A, A, 1 R, A Wy | 74,
1 Cmmjckismeltedtoformacube. The

£ vtz F fIaaE O o1 79 T W
=1 g A ¥ gurfaceareaafthecn‘beis:

@ ssaw AR @ 38’

@ 2163 AR, 216 con®

@ 204Fi A @ 2% cm?

@) 150 = A, @ 150em?

Which of the following diagrams explain
the relationship among Fathers, Men and
Uncles ?

o (O
5

F oFd B 6 2

(0
0

Q/Page 17 <% @73 % f7T ST / SPACE FOR ROUGH WORK K] 171
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76. T A:B=3:

s o 5P
77, fedh R E s AR E
7 wprr & e O E T

i

(1) 16 @@ =1
(2) 17 =
(3) 18 FEE =
) 15 FR@E F

78. 1A % ST F1 39A 1:8 T WHH

76.

78.

IfA:B=3:4and B:C=t’::'ll|:l-|enC:Ais
equal to:

1) 8:15

& 22:9

(@) 7:11

A particular month has 5 Saturdays. Th,e
last day of the month is also Saturday. Th,
number of days in the month is 31. Thep
the third Saturday would be on which dage
of that month ?
(1)  16% of the month
V(Zj/ 17t of the month
(3) 18t of the month

(4) 15% of the month

Two cubes have volumes in the ratio of
1: 8. The ratio of the total surface area of

S F I £ : faces of one to that of the other is :
1 1:2 @ 1:2
(2 1:16 (2 1:16
(3) 1:8 @) 1:8
4) 1:4 @ 1:4
Q/Page 18 . :Wm:ﬁﬁm}w; SPACE FOR ROUGH WORK PKJ 1711
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P 8. C ’; ' Z) 1!41." a 2

y W

e

38

I——————— L

9, e @ FA-E AT RO AR gy ),

Which of the following figures completes

wAE? the given Matrix ?
| N | @ | .-\__ II | %‘. !. l L ] 1
i % L A '_ [ st
b— [ T
Aol | THAIG
L AN | o RSN o/
| 1 ‘ \ /—\ | 3{?7;-—
' | ) | (37 - | R
! | \/ | Lr/ﬁ. ll | : ‘. N Y
L | | L= :
@/ \-: m / \
o A\ o A\
@3 @ ©)] @
O o /o
Q/Page 19 & @4 & T e / SPACE FOR ROUGH WORK PKJ 17-11




@9 | 8o - e
) Eal . In a line of 37 persons, A and B tﬂmmmx;atl of a triangle are in the )
. A AT B AR ks pe : and B stand | g5 T favqa j A SRS g, lgs, TwWO angles : . rato of
80, T TE ;ﬁt“:‘b?ﬁwtr 315“7 :E;ﬂni;i:h arank:.hrelspechvely from 1::_ 8 - g3 aﬁm:qf:::':‘: ;ﬂjm N 83 2.5, The th-'ﬂd ar.:ngle is d‘;:ok- the greater
T @ €17 aficanmianiisi et i L L : ' of the two given angles. The greatest angle
k- ] E’h ttom of tﬂangk’ is
o (1)~ 28th, 20nd m t.;l!l" ) '\ ) or
l” 28 ET’ 2 (2) 2blh' l‘lth [2) “Jli' ‘ J,Z/ 1007
@ 2t 11 & . . &) RO ) 80°
e nd BB @ @ ¥
N " S e ] T 4 LOM of two number
@ 2:'3?-“3? 4 aa@lsﬁ'ﬂm g AT | gy The HCF an . o s are
" qraaed w20 AN 240 ¥ A2 0 Hen 20 and 240 respectively. 1§ one number »
23) wﬁ{aﬁ‘d@l'ﬁ: bg'gheothﬂ““mi-"'-
o " 5) = [9= _1;2 + 1;: F R | 81, The value of product | 1 8o M 80
L x \ " - @ 120 @ 120
3+ —) (9 -2 é) . @ % @ ®
FAA, x=1RE: ( x x T 3Z)atx=lis: @) 40 @) 40
) W M 10 chich is different from
( 2 148 R AT FAAAARERY: | g5, Select the figare WHIEHE erent from the
@ 148 e three :
@ 140 @) 140
(4 152 br 12 1) W
82 Fer & @ FFet gen ey T A # QU | 82.  Which of the following numbers completes
FETE? the given matrix ?
@ @
.3 912
25 | 30
49 | ? 3) &)
(1) 56 1y 56
2 72 @ 72
4
@) 80 3) 80 @) 9
4 4 @4 42 — =
i <& @18 ¥ feq wg / SPACE FOR ROUGH WO -
Q/Page 20 @Tm & fer g / SPACE FOR ROUGH WORK P17 | YFase? s f;:% 4 .
! - |
vy ; 3 L § o
'Aa I04R0) A L8 :‘1?_ 1 \ok4s S Qﬂj_‘j.."l-'
¢ " o [ FIRIERS ; 7 L CE A 4




rice of 4 cups of tea and 7 cups of

it
@ T 86. Choose the correct alternative from o FH
-ﬁaﬂ‘lﬁ? ) oot th 4 oI =@ A7 o = 2135 %,
* ::Tm W:T’! q f:;: ones which will complete the e 1 3 T Y I = 3 O T e . z;ei ;s 2135. The price of a cup of coffee
SR ) ﬂwgmmﬁaﬂam@ammm isdoublematofacupoftea, The price of
PDW PAZ, PBY, PCX, PDW, 2 ¥ 2 caps Of tea and one <up kit
PAZ, PBY, PCX, P71 @ I 235
(1) PBY )
Y
(1) PB 5 @ 3750 @ 3730
(2) PFU (©) Z30 “M 7130
(3 PEV -+ PEV @ 315 @ X 15
@ PRV (4) PFV |
._ 90. fzm‘ﬂ'ﬁ I'aai?"ii ﬁ .'a Gﬂla‘qil a‘?ﬁ" qﬁ“{ . 90, SeleCt the related hg\ma from the given
: alternatives :
g7. frad @ FH-TI= sl = % W98 | 87.  Which of the following words appears first
TEe A §? in the dictionary ?
(2) Transmission (2) Transmission
(3) Transportation (3) Transportation
@) m
(4) Translation (4) Translation
- , @ @
88. 39 HE&A HI gHC S s a A A 88. Select the number which is different from @ (H/
other three :
@ 9 m 9
® /D ® /D
2) 28 @ 28
@B) 6 @) 63 ".
@) v @
4 2 N
(4) W 2 | —
7
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g1 afzasb=2+P)

@2 24
(3 18

4 32

oz foe Aot @ o FIAC 2

12, 26, 55, 114, 233, S
(1 470
2 472

(3) 474

(4) 466

93. UF AA B & gar A Ja’-6ab a9 | 93.

2a2+ b2 ¥ W OO :
(1) 2a%+2b2—6ab

(2) 10a%-12ab+2b?

(3) 8a?+2b2-10ab

(4) 5a?+b%-6ab

91.

If a*b=2(a+b), then 2+(3+4) =
Oy 28
2 24
(3 18

4) 32

Complete the following series
12, 26, 55, 114, 233,
(1) 470
M) an
(3) 474

(4) 466

Tl-;‘o adjacent sides of a rectangle are
3a“— 6ab and 2a+ b2 Its perimeter is : ;

(1) 2a2+2b2-6ab
(20~ 10a%—12ab+2b?
(3) 8a?+2b2—10ab

(4) 5a?+b2-6ab

” Hmé mﬁmﬁfawt ?

@ °
(2 12
@ 16
@ 6

95. o @ 2 W H HARD 911357 IRSOFT | 95, |
=1 2468 foran A A 21458 fraw e 2

(1) SHORT
(2) START
() STARS
(4) SHOOT

96, faa 2 waa il ¥ W 113 st

(1) 8aM9
2) 9@mM10
(@) 107911

@ 77@8

% @4 & g 9K / SPACE FOR ROUGH WORK

- How many triangles are there in the given

figure 2

fin a certain code language HARD is
written as 1357, SOFT is written as 2468
then 21458 would stand for .

way” SHORT
(@) START
@ ST ARS

(4 sHooT

96, Between which two consecutive whole

aumber does (113 lie?
(1) 8and9
@ 9and10
43 10and11

@) 7and8
PKJ17-11
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wn T | 97 el
R a6 ect the related number from the
o7, faq my fawedt A8 T alternatives. If giv
afe 13 : 156 317 m Az 27: l;m s 272 they
& 702
ol 2
2 726
(2 726
3) 72
- 3 729
© 0 (4) 600
Wﬁ m: 3 'E?tﬁ'. Thr 5
98, 3}“ e W mﬂ;f ee solid cubes whose edges are 3 cm,
4@ a5 A EF frwent ¥ & . 4 cm, and 5 cm respectively are melted to
T Ty 39 A gaea € : form a single solid cube. The surface area
of the new cube is :
(1) 150 =f A4, (1) 150 cm?
(2) 384 3 A (2) 384cm?
(3) 96 @i A (3) 96cm?
(4) 216 = 9., (4" 216 cm?
99, -
:13;80 HT1 p% +400 1 10% =160, @ p F If p% of 480 +10% of 400 =160, then value
: ofpis:
M 20 @ 20
@ 10 @ 10
¢ @ 30
4 25 ﬁ’ >
Q/Page 26 w
I8l %1 & f7 3 / SPACE FOR ROUGH WORK PKJ 17-11
315 ik 4

RN IEL & .

Z \3 PHJ ) ;
//i} & 3:1)'{”%(41 {d~cat

@Wﬂ&ﬂﬁ@mZmiﬁﬂmﬁqm
F 91 TH A A ISWE‘\EWM
40 =i W fall | 39 O A 2 FHH A Ty
w & v el 42

m 8
@ 10
@ 12

@ 5

100. In @

n examination some questions carry
5 marks cach and some others carry
4 marks ecach. A student scored 40 marks
by attempting 15 questions correct in all.

{How many questions carrying 2 marks did

he El"-‘-mf'l
m 8
gr 1

@ 12

@

101. & S H1 @ YA p2-2p+1 A | 101, Two sides of a triangle are p’-2p+land

3p?—5p+3 ¥ | FEHI IR 6p2 - 4p+9 ¥

o g et

(1) 8p*+11p-7
@) 3p*+5p—4

(3) 5p*-5p+9

(4) 2p2+3p+5

102, T wfaa S T Ao M FT|E WA
mm%ﬁﬂmﬂﬁmﬁtnﬂﬂﬁ
i 3 9 T ¥ wfE F 3y s @

F 9 ¥ 99 ¥ b2

39-_.594-1 and its perimeter 1s

6p*— 4P +9, Tts third side is

1 8p*+1p- 7
()] 3p2+5p— )

@) 5p2 —5p+9

\(_4)/ 2p2 +3p+5

102. A man is b years older than his wite. The

wife is thrice as old as her daughter who is

at present 9 years old. How old was the

man when his daughter was born ?

(1 247 ¥ 24 years

@ 2 ad (2) 29 years

@ 2= (3) 23 years

(4 25 (4) 25 years

Q/Page 27 & @74 & 1T g / SPACE FOR ROUGH WORK PK) 1711
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e T ’ 103, Two angles dama.nglemmﬂ‘erﬁho.-_
. -—;,m-;ar.‘s;-v'rff"?ﬁ,r};'ﬁtll £+2. T Gndisogle s S U ey o yER M A I UMW TR | e average 38€ Of 3 Doys is 24 years and
303 ;_,,é.i_—;-g#-’_ﬂs these two. then the third angle is : . 106. :m;.qq'ra?.:-l:Stl mﬂm{, 106. meuasesareinthetaﬁoc(}:-lzs.theage
et f N ant: of the oldest boy is:
= ? 2~ @ @ 4 L Ry 24 years
R , 4 ; @ .= @ MWyer
i = (3) s @ 2Byears
) - ;r_.gi".i'? | 104 The following question contains a pair o 4 30d ,("“/ 30 years
we Sw=dfw T ey V¥ terms on the left side of ( - 2) which exhiby
Fw?_:f__r;ﬁf ;::'75;'7 a certaim relation between them. Find the
?_;;:;?:—__._‘_T;.ﬁ;’ﬁ' term which exhibits s,l-m-] -' relation with 107. Emﬁﬁmﬂmmmt — A man starts wdhnmwamm
the term on the right side of (: :). g5 == 9 T0F g2 I ¥ 59 @ . hemﬂ\sleh.afherw g some :
A~ 161:23::98:7 ot ol W0F g T 8 I9E 9K T TS het msri#\f- Ihzn. heturns. ha):[-nEhhh\
i 1) 2z o IO e I S| v aE few em Fwm which direction is he now walking ?
e ?
S 2 14 e
o : G) 2 ) = - ofrm (1) South-West
= i ; pe
5 7 | 4 @ = - @ "South - East
—— 3 T - e @) North-West
15 Z=r=i==s==cs===> 2 | 16. The given Venn diagram is suitable to : &
T represent the groups of - { (4) TH-TS @) North-East
3 A
— B $ ﬁ P and LCM of two numbers are
; C 108. 3 FENH ¥ WEIR TUTIAF T T | 108, The HCF ; i
S — e w10 79 840 ¥ AR T I 10 and 840 respectively. 1f one number i
o s e
_ ! = ad Tt I, St s
o '| g a % m %
I I sEsesT= vas : 1" Men, Workers, Writers
SR, @ & @
2) s ==E =3 (2)  Women, Mothers, Nurses
5 FEEE oTm = (3)  Teachers, Students, Clerks @ 70 W
4 e R (4) Teachers, Men, Women @ 0 @ 30
Q/Pagezs "ﬂa‘!‘l‘é%ﬁqw SPACE FOR ROUGH WORK PKJ 17-11 QPage 9 “mth“ SPACEFORROUGH“'OIK P17
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3 - el & 2 : e TS - wrrect altemative from
s T T EET S T W TR fees Too W Thoose e N rect AlbemAlive trom g |
e ones WK R W O i

=0 -5  ~ Tl L
. RCES
- - ~ 3 4 ¥ AY
- & < - = - .
- 3 -
+ b1 1
\.f( =

R fawa o mmmm*m \ o Continuous  and

According

1n2
e ; , u .
o a?: 5:; (ATEE ETFET W Ay, ' C omprehensive Evaluation i Soences at
epmtatad wram e =g l Jeast some formative assessments should be
. \ t\.\ﬂ‘d on
@ wairyen fEmreEm AW wEm |1. W experiments and lab activities
@ Sicalanis! \ @ wrting shalls
@ o  ofEeE s \ ™ project work in groups
&) HER EE I‘t (@) conversauon skills
i
]
3 PR AR e = T+ feifors | \wWhich of the following factors would help
a 113 c
ate E w1 § weEw W ctudents improve their academic

pcrt'unn-lm‘t! 2
Frequent evaluation of performance

110, S 5% ATRS =7 59 == == T9F | 110, How many melm‘nul words may be .
E?:!:i_ﬂ#f' T e '. formed by using the leteers ATRS, using | @) W WR- AR @
AT n sach hetter only once ? ; () Ty -Toramell F e S e ® Positive teacher student relationships
5 3 | . @ f=e ¥ vy wen-Toan SO @ Close teacher parent interachons
) | A @ =& w 51?81 =Tae (d Instruction ata higher level
9 4 .‘ 2 4
- 2 |
3 G 5 @ (@@ @ (@and G
4 2 ’ i 5 & ® M @ @and©
." = 3 @ 3R (c) @ (@and ©
- @ 3@ @ mandd
1 s 5_" T :_'i’a ”F w57 37 =597 | 111. A verbal or nonverbal prompt or signal
TR 1 e T I given by the teacher when the students 114, e A & e o frefefea § 3 39 | 114, Withrespectto Action Research, which one
W*“T“F;M‘*’?mh“ need to be reminded to behave in a certain e W@ T8 ¥ of the following is incorrect ”
oz S dabably way or to refrain from behaving in a certain (1) e FH TR = e ()  Its scope is very wide
- "r way is termed as a/an : @ TEHEN syeara, farenfeidi = wewst @ It is concerned with immediate
(1) ST (1) incentive ﬂmmﬁ% £ 4 prob\ems faced by the teachers’
(2 S students/ inshutions
7 @ reinfosces ' % o e SR S ¥ v @) lts conclusions are in the form of
(3 FTF @) stimulus FAGE remedial measures
‘ = 7O ArEA ST T § 4 It tributes to classroom teaching
4 ¥ (8%7) @ 4 = L (% 1t con
e 3 prachices
Q/Page 30 & & % —
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o {pﬁ*“ FE | 115, Plav ischildren’s work was Postulay
& il which af the tollowing ? My L LR A fadl faun W) fAaumear
118 Sl - o 1 Fereifert i 1 ’ AN | Jith respoect 1o the presentation of content
= () Froebel el ® etferfaa i A @ g, | wi S
R { by a wacher, which ome of the
R Q) Montessort following 1% prrelevant 7
5 =R & Dewey (1 R
Es #)  Rousseau (ny = hveme of examination
- @ faptfta aten _
+ e (2) ldt-nhlil'll objectives
3 I-':“i 5 M ST ; ¥ 3 f
- - §""N o : 4 11e. hh; nsure eftective learning in d“'qs"t\um ) AT R ) ST /()V existing, Classroom « onditions
11a FERFTE il e = ‘hich one of the following is i ke i
bbbl gt - . which one of the tollowing is irrelevan @) ferenfelil @1 T T i i
g2 2 o¥ - () There should be pin-drop @ ¢ ognitive leve onts
@ R “ thec op allence
. gmaw 2 e class so that the teacher may teag
= % undisturbedly * >
il ] - ) A or igis h IEH:BIR HH g i . 3
2 T=F g"w:ﬂa-‘:ﬁf‘ﬁ; (@) The students should be give = wq a0 17 1 T F | g, or Thorndike: the most basic form of
RIE e b - iediate feedback concerning learning Was —
e . accuracy of their learning (1 wE iR gfz wfm & (Teal ol estopteaming
3) mwwﬂ (3) The teacher should ensure that SR Ll stfvra
syt fy @ @A =l students are able to learn at their o ¢ (2) Observational \earning,
paces AT AT
2 = gt @) 4y Vicarious learning
4) FATH TE g :;ﬁf: sl (4) The teacher should ensure that . er =
SrarE § a}gg‘fé information to be learned is @ SN @ Social learning
Eafe g presented in small steps »
117. it Ere W | 117, A . .

17 mqﬁﬂqa;mﬁmﬁ:m = 17. A class V teacher directs students to a role 120. mﬂ%mﬁﬁﬁqﬁf@ﬁﬁﬂmm 120. Which one of the following is incorrect
e sl dai § FAaE 7 U ® play to introduce the concept of w22 about curriculum ?
ﬁaﬁ%ﬁqaﬁﬁ@{ﬁmmm interdependence and harmony in
¥ fore wedt &1 59 AU frafefad ® 9 relationships. Which of the following ™ qreaaat fafws awasl F e (1) curriculum varies from teacher to
Frar 9 I9F feg Y FfFa & instruments would help him/her R teacher

orere Fayifa X 5 FeEE a7 determi i
! ne the quality of
quality of role play by @) weTEE H &Y S T & (@ curriculumhasa wider scope
students ?
qArae
@ (1) Questionnaire @) e SR AR (3) curriculumis prescriptive in nature
@ e sk e @ Rating scale
@) wwa-fafa ) @ qreT=al 6 Ty 3 T raTas R @) curriculum refers to the overall
(3) Socio-metry ‘ ¥ < forelt Sfiren wreen H wat Einihd content which is to be taught in an
(O] 3T T T IR
== @) Face-to-face interview i educational institution
Page 32 p— i ! —
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h

ral terms for stating objecy;

§ the following is not the

© 9, The behaviod
121, skedl & A mmmﬁ"’“ o 121. 1i1:: ity compute, d?monstra 123. FrefatEd ﬁ'ﬁﬁ fagia wiga waw 5 1, which one ©
afad e, TRl O, T fre ﬂﬁm o manipulate, modify, oper, zgi 1 Fasd . - WRIEE o of philosophy of Fredrick
: &, discover, princiP
yﬂsﬁﬂ H, mi\ﬁﬁ 0, IERL . repare, relate, show, solve pel 7
et e S e, e e, L ¥ predict, P { the follow, Reas
; \ . s hich one © Wiy
A g a vt | pertain O
#7 categories ? q) faFE® fagia @ The principle of development
1 (1 Analysis
(1) faweEm (a] e 1 fagi @ Thepﬁndpuois-zu-mivﬂy
@) R @ Synthesis
@) o fagia Linciple of supernaturalism
@) e (3) Evaluation @ e
@ sEwEm ) Application @ T =1 fagi @ The Law of unity
122 Freifefan # @ @i fpaers fage S [ 122 Which of the following activities woul
T mﬁmﬂmﬁqﬁgﬁaﬁﬁ? best .correlate science with Ianguasm qﬁﬂﬁ%mw# SR O FEHEH | 124 According to which constitutional
learning ? i Y, =R A e T ST ST WS . on, all minorities whether based on
S TeoTER Afww e T A 3R religion or language, have the right to
1 wHEHFENEI vife wIeTEH (1) Asking students fo remembe g WG FTI T AT E? establish and administer educational
e FL technical terms perfectly o stitutions of their choice ?
(2) THT FEATTEH F feru faam ®1 =l (2) Organizing 2 refresher course ¢
ot U fokr Fd &1 ST H science for language teachers i) SR 28 () Asticle 28
3) Forefefdi & s i & faeit Sautren fared (3) Asking students to write an essay o _
s 3!3# 1
W uF Fray fad some scientific topic @ B @ At cle15
(4) SR T G & 2y § T S }5{ Arranging field visits for & 3y g6 (@) Article 46
85 YA F e w6 A AR A exhaustive exploration of thi
, P b
forenfefaii @ s fargga fure GaR @A environment and asking students
write the report there of @) SR (&) Article 29
Q/Page 34 1% &1 & fere 978 / SPACE FOR ROUGH WORK PK] 17-kQ/Page 35 T FT & A e/ SPACE FOR ROUGH WORK PK}17-11
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125. il = T A =t e &1 ﬂa‘h 125. Mrs. Kapur, a teacher of class I1l wants hee
oo fo v P 7 students to enjoy school. She makes fe,,
FY 0¥ faq IEH =il ﬂg:iﬂf =i B academic or behavioural demands on thep,
strercoreiaitdt sraad s T Ty She believes in the importance of giviny
wrgTa 31 & " o gt A = students autonomy. In her interaction wiy,
Wmmﬂfﬂmm students, she tries hard to be a good listene,
TE 1w w8, T to emphathize, and to show warmth :
wafvfa w € o v £ T g >
| FEAE .ﬁga:rﬁat Ay affection. She knows that studeng
TR R sAfvgfa F1 Y 7 ST 3 sometimes take advantage of her, by,
Iqe1 favara & m’;’m &1 fergy believes that students will eventual)y,
e *_gﬁ" ELCUE e develop a sense of responsibility for thejr
:ﬂ' FT | A *3"';13 A8 o own learning and behaviour.

o diefl 1 373 Which of the classroom management style

is she practising ?

(1) wEE (1)  Authoritarian

@ = (2) Permissive

(3) T (3) Democratic

(4) wmIoE (4) Authorative

Hauifs wEaE F § =+ Frafafag
126. 44 fom & %gﬁfﬁﬁ!ﬂ? 126. With respect to the constitutional
o @ T E provisions, education is the subject of :
(1) TR d (1) State list
2 m ‘F" (2) Concurrent list
B T (3)  Union list
W Py (4) Central list

127, frefanad 4 4 98 #9194 fafen s o

127. Which of the following is considered as

ﬁ%&ﬂ;ﬁﬂlmfﬂm Afuera) Magna Carta of Indian education during
colonial rule ?
:;:JJ 3;; f:;a (1)  Wood’s Dispatch
i A2) Macaulay’s minutes
i e i (3) Hunter Commission
(4) Sargent's Commission
Q/Page 36 % %14 & feIq w7g / SPACE FOR ROUGH WORK PKJ 1711

128. Wﬁmﬁﬁ@ﬁm&ﬂmwﬂfﬁfum 1

. 1 of the following is the most effective

tmmﬁﬂmﬁﬁ‘@‘fﬂ Eea way t© help children develop social
w0 foman W ? ?
alues ,
(1) e g A S H §E T ‘('1} presenting one’s own behaviour as a
~ g A A (T T T A nodel for them
gog @i
(2) 3% HEA sl ¥ faaa # 7@ @ Telling them about great Penplg
@ = Afew Ferfaal ward T @ Reciting §00d moral stories
(4) =% g g S e S AEA @) pisciplining them in mores and
% apqenfaa FE values that the society recognizes

129, ﬁqﬁamaﬁuxmmﬂﬁﬁfmmmt 19, Which

Wmmwwmﬁrﬂt.
wmmvﬁﬁaﬂm%ﬁ
ATFE HN =M ifa araraEcon FifEd
R E | AT R WK FEA =
*mmmmmmma
58 TR F gam, frE Hu TEET
T A6 o &2

(1) \FEAER
2 vEiEr
() FEdER
(4) wATER

130, Frree fasma & & F oW & 2
1) WEE R oft fork ol w01 % g

one of the following philosophical
schools of thought is of the view that the
Phygica] universeisa reality, man like other
animals must adapt to the environment.
Material environment is limited. Any
intervention of the teacher is harmful to the
his/her development should be

child and
kind of suggestion or

unchecked by any
guidance ?
(1) humanism
(2) naturalism
(3) idealism
(4) pragmatism

130. Zone of proximal development is :
(1) Range of tasks thata child is in the

T dre i ¥ process of learning to complete

@) & e ¥ Ao faad ol VEATH| (2) Sum of own conscious thoughts and
ToE o 7= A s faver fen ¥ feelings introspected by child

@) ¥= F I AW W A (3) Mental representation of the external
e world on the part of the child

(‘Q/iﬁ?m s forerdl e 3o wfed (4) Series of actions in which a child

# g W SAE F ¥ undergoes social interactions with
peers
Q/Page 37 TF wrd & A g / SPACE FOR ROUGH WORK PK) 17-11



a teacher of class V has high

131, sreraq < ot PR 3y g ,
frers 7 a:wlaﬁ;ﬁﬁﬂw 2 W | 197 The unspoken or P 0 academic, sociy 133, A e < o fa W SOATH E I | 1y, g Shaile:
ara v and cu.ltural messages hﬂlhat are Forenfetai & i i Ao AR ST 3. M ations from her students in terms of
Yraw=af Feem ¢ ::::hn:.?z::;t:t:t::dents while they a, et 3o ST a1 3% IR W :ﬂh academic ac‘hievemem and
Tl & fof e W@ =@ &, WeEte . Mial_personal behaviour. She believes
N ‘ . =0 e B A a=i W qrEgEFaE & W (hat it i important to create a warm,
W 41 T W il (1)  hidden curriculum Gaevie €| 3T faend 4 9 9 i F| supportive classroom environment that is
et Forad = TR 238 drg wwE o € sensitive t0 student’s needs. Sheis firm but
(2 wife werE (2) integrated curriculum sere oreeir & o feemeff Frael =61 3 gime to provide rationale forvarious
g ! ’ A takes
ﬁﬁﬁﬁmaﬁqﬁaﬁmm < classroom rules. She believes that there
) £ o @) spiral curriculum et & < 3fea B wig I HEEfA aqvE A must be consequences when students
hal violate the rules but she tries to invoke
@) gt s (@) explicit curriculum it o (e G2t Aot
huﬂ'\'ﬂiate gtudEl\ts.
A TE FE Heer S e el w1 e Which of the classroom management style
oHn T ¥ 2 is she practising ?
132. e guEvA A Fretiad . : ;
i #1 | 132. Successful inclusion requires all except : 1y FHH ) Permissive
,(})/ TR @ Authoritative
1) -:::ﬂ'ﬁ%w a7 77 3R “;“ &S (1) Teachers have the knowledge and (@) SEwE (3) |Laissez- faire
HferTa FAAT 1% SR skills needed to select and adapt T
gt 3R faern i F 9 q curricula and instructional methods @ @ Auriatan
Fﬁ’mw*m AT TR S according to individual student’s
needs i
134, S faaEE WOW @e-FE T B 9 | 134 Games and sports at the elementary school
TR TEEA F .
2 @ Fﬂ:ﬁ w it SAferTa (2) A competitive learning environment s l levelhelp acients 2
qefes W pIEd that focusses on individual’s (1 =€ :;“:" it srereen ¥ wwera gt (1) ensure success atany cost
achievement ha
(3) =fFTa faenef wfa @1 A7t F11 & 3 , . @ =& T TER F FreRl F gEras (2) learn basic rules of all sports
fore il = (3) Appropriate techniques and @ o
3uge Al qd1 garear procedures for monitoring individual
student progress (%/‘}é FEdm H WA, AEEhd = (3 learn cooperation, fairness and
FEga HE <@ st negotiation
@& seE T & Afvm ol &
e a};'.'f (4) Teacl:lers accept responsibility for the @) e i wiew 3R R e A (4) be more competitive and exact in
- R learning outcomes of students o A their tasks
age 38 % &4 & forg wrg
SPACE FO
s R ROUGH WORK PKJ 17-11 Q/Page 39 <% @18 % fT SE / SPACE FOR ROUGH WORK PKJ17-11



135. m#mm*sﬁm

o ot ST RS o it (5 2 et s
T =Ifen ?
m 3= (1)  punishment
(2) wETT (2) reinforcement
J‘Tr st (3) response
(4) e

136. ﬁﬁﬁﬁﬁﬁ'ﬁﬁmwmm

T E?

(1) fawr o g wEA ¢

@ far 7 a wfF TR TR R

3) o5 =i w7 fawm #1200 99 T
e E

g o wia Y A ¢

137. frefafaa § 2 faa foeae 3 5700 3 2=
7 foran 3 wizadt foray fafvdi % 990 H U
TEwTq yftewt 1 7
(1) TisurE @z

A

(3) Tfead ua@e

Tt aEe

@) e e

Q/Page 40

e TR

(4) performance

136. Which of the following is not a principle of
development ?

(1) Development is a continuous process

(2) All processes of development are
interconnected

(3) Development does not proceed at the
same pace for all children

(4) Development is always linear

137. Which of the following educationists
played a significant role in introducing
Montessori education methods to children
in India ?

(1) Gijubhai Badheka

(2) Annie Besant

(3) Rohit Dhankar

(4) Savitribai Phule
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138. m:'wm%wﬁmﬁmm

135, The gbjecﬁ‘fe'-‘“we“d of this unit, the
ﬁgtﬂmﬁfaﬁmﬂﬂ‘“ﬁﬁ“‘ )

students would be able to summarize the

& cull main events of a story in grammatically

% Foe e 3eea & Wt €2 correct language, belonge 1o which of the
foll owing levels of cognition?

(1) FHH @ (l) Application

(2) e @ Synthesis

@) e @ Evalwaton

(4_)/'3"15! @) Comprehension

139. ﬁqﬁhﬂﬂammmaﬁﬁ&fﬁ
2 i arch st 1 Fafre adn A
w87
(y Croichciciiin
() TEE T T
3) i wedm Hn A faww = T

qHEH

(4) wmfee e TP TEr

139, Which amongst the following regulates and

¥ monitors services given to persons with
disability 7

o)) Rehabilitation Council of India

2 National Book Trust

3) National Institute of Public
Cooperation and Child Development

(4) National Institute of Social Defence

140, T == A sAfaieE (FRwm) F oA
faara B g & 3w g 1 wAE O A
-@ﬁmmma@amwaﬂm
o T ¥ | T Fera WA, T we
W AfE §| e = 3 A weeE W
HfFaTd T T & 9 oTgd 8 €1 TR T
= o g whaifea dree fasr fagi
frg I W }?

140. A child has developed the ability to
conserve and can arrange things from
smallest to largest and vice-versa. The
thought processes are directed to real
events observed by the child. The child can
perform rather complex operations on
problems as long as the problems are not
abstract. The child is at which one of the
following stage of Piaget's Theory of
Cognitive Development ?

(1) e whma s

T wiwares el

(3) I WA T

(1) Preoperational stage

(2) Concrete operational stage
(3) Formal operational stage

(4) HIQ =R e (4) Sensorimotor stage
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14, Which one of the following is irrelevant
when a teacher desires to adopt ICT based
approach

teaching-learning for

studenis 7

(1) The students must be able to use
available ICT devices

(2) The knowledge of students gained
through ICT devices must be assured

in examinations

(3) There should be internet connection
available so that students can
explore

(4)  There must be compatibility between
content and technology

142. w1 MW F XS AT B | 142, Majority of the students of class IV avoids

forerr gfied @=i % A1 T T6E el
¥ ¥ e 9 A gfedd 9= I g
STV g @ Ffa @ 02

(1) SrEg=A

4

the company of a visually challenged child
in their class. Which of the following needs
of the visually challenged child would not
be met successfully ?

(1)  Esteem

. (2) Belongingness
(G} wiRew (3) Physiological
4) g (@) Safety
Q/Page 42
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143, w5 % Pl A ot W A AT |

e foers 3 29w fe

(@ = = e aform &7
() T

mmﬁﬁmmﬁm?wiz
i f wegdi A €7

(1) (a) TOF A (b) HEEAT
27 (a) THE A€ (b) wA T WA
(3) (a) H A4 (b) HEeA

@) (@7 (b) T =1 FE

144.
e itads ) Y & 7

@ay" afam
(2) W
(3) #hTRON
(4) wisfein

145.
1 e e & i Ted W fafure sfam
Mﬂﬂﬂmﬂmﬁww%
foru fauifa ffg g &\ ST 9% AR
Freifefaa 1§ @ fae@ dag ®?

() e Fi favaeE
@) fawgag ®: fawR
< e R T
(@) T R Jum

After teaching the concept of square to
Class vV students, a teacher asked students
the following two questions :

5t is the definition of a square ?

(a) Wwha'
®) Draw a square.

dentify the level of cognitive development,
the two quest'mns intend to measure 7

1) (@) Understanding (b) Synthesis
@2 @ Understanding (b) Application
3) (a) Knowledge (b) Synthesis

@) (a) Knowledge (b) Application

friifea 4 4 St fawn sEvE @ € = | 144, Which of the following describes the

change inan individual's behaviour arising,
from experience ?

(1) Leamning

(2) Perception

3 Motivation

(4) Modelling

T W TF 1 Fie w1 I, S | 145, After preparing a question paper, ateacher

checks whether the question paper tests the

specific learning objectives planned for the
course. The teacher is concerned with
which of the following ?

(1) Reliability of the test
(2) Content coverage

(3) Objectivity of the test
(4)  Validity of the test
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Escal t & 146,

wa wﬁmﬂﬁﬁﬁ'
) forgt woEn ¥ FAEE
o

maﬁ;ﬁzﬂmﬁﬂﬁﬁm av
& forg T @ e o 7

fﬁ/ HATET 'R
(2) favems &R
(3) ¥ TR
(4) HHF T AT

147. T feremeif s § ayeres 3 0@ 9 {91 €
I s1eaTes 0 gfie § g @A ¥ € AR
ST I T FY =iz &A1 8| FATH F CH
=R § I forenedf frw @ 9 € 3 ¥
& & g 9 30 § 1 T fef 1 Frefciad
T R 7 Har & = g &7

(1) - Afaewa
B
() YFRF guE
(4) wfaffus g

147.

After teaching, a teacher finds thata studen
is able to write a well organised theme, 5
creative short story and can give a well
organised speech and proposes a plan for
experiment. Student can integrate ieaming
from different areas into a plan for solving

a problem.
Then on the part of the teacher, at which
one of the following levels of the
educational objectives have been achieved
in behavioural terms ?

(1) Application

(2) Analysis

(3) Synthesis

(4) Comprehension

A teacher rebukes a student for his asking
a question which the teacher considers as
silly. Observing this, the other students
become reluctant to ask questions. This

situation is an example of :
(1) classroom ethics

(2) self reinforcement
(3) facilitating effect

(4) vicarious punishment
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148. @uwﬂﬁﬂ.mﬁmﬁm 148, WHid
H A Foem T B 92 ’

m

) st
@ w&uEi @
(3 AL 1))
(@), TE IR @)

A

149, Freifofaa § A fog it fEamem & WM | 149,

et Trord en s Aee W g E?
Carl Rogers and Abraham Maslow are
associated ?
}D vl o Naturalism
(2) WEREER (2) Pragmatism
(@) WAEIER (3) Humanism
(4) omee (4) ldealism
TF & & 17 & / SPACE FOR ROUGH WORK PKJ 17-11

agency for
F,amewnrk,

Central
Education

h one of the following was the nodal

framing MNational Curriculum
2005 ?

University Grants Commission

Board of Secondary

National Council for Teacher
Education

National Council of Educational
Research and Training

With which one of the following

philosophical schools of thought the names
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150. ﬁnﬁﬁaﬂﬁﬁmwwﬁﬂ%
g B

amm%qa:wa?mﬂaiﬁ
& R?

) maﬁw-aﬁa:wﬂ?mm
WeH H §

/(}) a%.wma#hummz?fﬂ?
®3) a%wdmraamfaa:wfaﬁra%

(4) Ei‘iﬂmmmwwérﬂ%

-00o0-

150, Which one of the following does not pertain
to objectives as an aspect of teaching some

subject ?

(1) Objectives provide frame of reference
for selection of content

(2) Objectives are broad and general

(3) Objectives are end points of possible
achievement

(4) Objectives are immediate and
attainable goals
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